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QUESTION 1

Which of the following custom TACACS+ attribute-value (AV) pairs gives the user guest privileges? 

A. local-user-name=anonymous 

B. local-user-name=guest 

C. local-user-name=administrator 

D. local-user-name=monitor 

E. local-user-name=ghost 

Correct Answer: D 

 

QUESTION 2

A customer uses a single URL for a service that uses many servers with different certificates. What SSL options should
be enabled to enhance performance? 

A. Passive key derivation 

B. SSL proxy support and SNI (Server name indication) 

C. SSL advanced mode 

D. Early start/late finish 

Correct Answer: C 

 

QUESTION 3

Refer to the exhibit. 
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Corp-A and Corp-B have overlapping address space and therefore the network administrator implemented NAT to
overcome this. Users from Corp-A NAT to 172.16.1.0/24 and users from Corp-B NAT to 172.16.2.0/24. Users in Corp-A
use the destination address of 172.16.2.0/24 to access the resources in Corp-B. The servers in Corp-B use the client IP
for authentication. You deploy the Steelhead appliance using the default WAN visibility mode but noticed all the
connections are passed-through. What is the likely problem? 

A. When the Steelhead appliance in Corp-B opens the outer connection, it is using the source IP of 

172.16.2.x instead of 192.168.1.x 

B. On the Steelhead appliance in Corp-B, there is a missing static route for the 192.168.1.0/25 network 

C. On the Steelhead appliance in Corp-A, there is a missing static route for the 172.16.2.0/24 network 

D. When the Steelhead appliance in Corp-B opens the outer connection, it is using the source IP of 

192.168.1.x instead of 172.16.1.x 

E. None of the above 

Correct Answer: D 

 

QUESTION 4

-- Exhibit 

-- Exhibit -

Refer to the exhibit. In a WCCP environment with R3, SH10 and SH11, the following screenshot shows that the load is
not being distributed evenly in between the Steelhead appliances. Why? 

A. They are different Steelhead appliances models. 

B. One of the Steelhead appliances currently has a lower number of TCP connections available. 

C. The weight setting is being used on the WCCP configuration. 

D. One of the Steelhead appliances is in admission control. 

Correct Answer: C 

 

QUESTION 5
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-- Exhibit 

-- Exhibit -Refer to the exhibit. When USER1 tried to map shares to Server 1 and Server 2, he got the results shown. 

What does the report represent? (Select 2) 

A. The connection to Server 2 is optimized. The performance should be good. 

B. The connection to Server 2 is optimized, with errors, the performance should be poor. 

C. The connection to Server 1 is optimized. The performance should be good. 

D. The connection to Server 1 is optimized, with errors, the performance should be poor. 

E. The connection to Server 1 is not being optimized. 

Correct Answer: AD 
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